HSSC Revenue Clerk 12 Dec 2021

1. Which of the following personalities is
related to Haryana?
[A] Hira Singh
[B] Kalpana Chawla
|C] Babu Dayal Sharma
D] All of them
[E] None of them

2. When was the Comprehensive Scheme

of Plantation under the name ‘Greening
of Haryana’ launched?
[A] In the year 1982-83
[B] In the year 1985-86
[C] In the year 1989-90
[D] In the year 1994-95
[E] None of the above

In Persian language Hisar means Fort.
The city of Hisar was founded by which
of the following Muslim Rulers?

[A] Firoz Shah Tughlaq
[B] Mohd. Bin Tughlaq
[C] Ghiyasuddin Tughlaq
[D] Both [A] and [B]

[E] None of them

4. In which of the following States is
terrace cultivation practiced?
[A] Punjab
[B] Plains of Uttar Pradesh
[C] Haryana
[D] Uttaranchal
[E] None of the above

5. Netscape Navigator is a type of
[A] utility program
[B] operating system
[C] browser
[D] web authoring program
[E] None of the above

6. Encrypted messaging application
‘Wickr’ has been recently acquired by
which tech giant?

3.

[A] Facebook [B] Twitter
[C] Google (D] Amazon
[E] None of the above

7. With a view to administrative conven-
ience, Haryana has been divided into
[A] three divisions
[B] four divisions
[C] five divisions

six divisions
E] None of the above

- J15-C

b 7

» 2.

g

-4,
ERE

i

8.

0/ O OO A O
i@ 4 gafya gl #59 87
(A] g fae
(B] eyl drae
c] =g Zae
[D] ¥ | |l
(B] ¥ & & 7l
ofifin 3w wfeon T G gaEeu H e
A Fa gE hl T
[A] @4 1082-83 [B] a¥ 1985-86
[C] @ 1989-90 (D] =¥ 1994-95
(E] 39w 0 & @18 78
wret sy i feon @ 3 2 fen) faam wet
I s Fraffan 3§ 3 fom gfem e
g it g et ?
(A] fime qrem
[B] Wewre faq qre
[C] framdh gre
[D] (A] 3 (B] @i
[E] ¥ & %i§ 4
R i o w1 s A 2
[A] 9o
[B] 3IM We¥ | HHAS ISATHI
(C] efwmn
[D] 3=
[E] 3w d 8 & 98

ey Af U uEH & R
[A] yfefadl sam  [B] suifen fawen
[C] wmat D] ¥& smurfa siwm

[E] 37w # & &ré 78

g Tl e ‘Wickr’ &1 g« &
ﬁ;ﬂ ﬂ?ﬁﬂﬁ fenra g 3']{“71?6?1 fpan T 27
A] e B) =

[C] e (D] 3

E] sqw 8§ @ S8 7@
W@m%mmiﬁ.ﬁw%
(A] o weii @ (B] S A

(€] e wril § (D] &

[E] 3w # @ #18 T

www.mseducationtv.com



10.

ll.

Which of the following  National
Highways runs from parigabad to
Ballabhgarh, Palwal, Mathyrg and Agra?
[A] National Highway Ng, 4

[B] National Highway No_ 3

[C] National Highway No.

[D] National Highway No_ 2

[E] None of the above

By what percent must the ¢qg¢ price be
raised in fixing the sale price in order
that there may be a profit of 20% after
allowing a commission of ]y,

1
A] 33-%  [B] 1331

3 3
25% [D] 30%
None of the above

(C]
[E]

The sum of two numbers, when
multiplied with each of the pnumbers
separately, then the results of the
above multiplications are 2418 and
3666 respectively. Find the difference
between the numbers.

|A] 16 [B] 21

[C] 19 [D] 23

[E] None of the above

All natural numbers and zero are called

as numbers.
[A] rational [B] integers
[C] whole [D] prime

[E] None of the above

Directory search is also known as

[A] direct search [B] unique search
[C] index search [D] All of the above
[E] None of the above

How much amount is given in Haryana
Sahitya Ratna Award?

(A] %2 lakh [B] ¥3 lakh
[C] %4 lakh [D] ¥2.5 lakh
[E] None of the above

Average revenue

[A] can be negative

[B] cannot be negative ’

[C] is zero when total reven€ is zerg
[D] Both [B]and [C)

[E] None of the above
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Direction : In the following question, a letter
series is given. Some of the letters of the
series are missing. These missing letters
are given in same order as one of the five
alternatives below the series. Find out the
correct alternative.

15. CDEF_EDC_DE_FED__
(A] FCFC [B] FCCD
[C] DCCC [D] DEFC
[E] None of the above

16. Where did Harshavardhana make the
capital of India?
|A] Rohtak [B] Panipat
[C] Mahendragarh[D] Hisar
|[E] None of the above

17. Which of the following dance for
also known as ‘Haryanvi Gidda™
[A] Lur folk dance [B] Ratvadi dance
[C] Jhumar dance [D] Ghoomar dance
[E] None of the above

18. During solar eclipse
[A] the Earth comes in between the
Sun and the Moon
[B] the Moon comes in between the
Sun and the Earth
[C] the Moon comes exactly halfway
between the Earth and the Sun

(D] the Sun comes in between the
Earth and the Moon

[E] None of the above

19. Chaudhary Chhotu Ram started a
vigorous campaign to popularize the
Unionist Party in Haryana. In Haryana
State this party was called as
[A] Zamindara league
[B] Zamindari system
[C] Hindu-Muslim
[D] All of the above
[E] None of the above

0

Direction : I, the following question, a matrix of
?Clll‘lmn characters is given. These characters
Foi.n ? :utt:ertgin trend, row-wise or column-wise,

this trend and choose the missing

from the given alternatives.
20.|72 1247 g

96 (16113

108 ? | 18

[A] 12 B] 16
[C] 32 (D] 37
[E] None of the above
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21. Which of the followip

22.

23.

ns.¢

g equations is

correct?
PxQ
[A] AR=——=P
Q
Bl AR=P+Q
[C] AR=P-0Q
[D] AR= P+Q

E]

The agenda for
Conferences

None of the above

the Round Table

held in London from

1930-32 was to

[A]

(B
(€]

(D]

[E]

discuss the report of the Simon
Commission

form a Constitution for India

find a solution of the communal
problem in India

find a solution for the problems of
the ‘depressed classes’ of India
None of the above

What is e-mail?

[A]
(B]
(C]
(D]
[E]

Engineering Mailing
Internet Mailing
Electronic Mailing
All of the above
None of the above

What prevents backflow of blood inside
the heart during contraction?

[A]
(B]
[C]
(D]
(E]

Valves in heart

Thick muscular walls of ventricles
Thin walls of atria

All of the above

None of the above

Which one of the following gases is
found in highest quantity in €X0sphere?

[A] Hydrogen [B] Helium
(C] Nitrogen [D] Oxygen
[E] None of the above

Union Defense Minister, R2inath Sin

has

India’s  frey

informed that

Indigenous Aircraft Carrier (AC.]) g
Planned to be commissioﬂf"d by which

year?

[A] 2022 (B] 2025
[C] 2030 [D] 2028
[E] None of the above
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27. Where did Guru Gobind Singh stay on
his way from Paonta Sahib to Anand pur
after the ‘Battle of Bangani’ in 16887
[A]  Gurdwara Navin Patshahi
[B] Gurdwara Kapal Mochan
[C] Gurdwara Dera Sahib
[D] Gurdwara Nadha Sahib
[E] None of the above

28. An upfold in rock is
[A] graben [B] horse
[C] anticline (D] syncline
[E] None of the above

29. In the current year which of the following
banks has partnered with Paisabazaar
to launch Step Up Credit Card?

[A] State Bank of India
[B] SBM Bank

[C] Airtel Payment Bank
(D] IPPB

[E] None of the above

30. Which one of the following is a

hereditary disease?

—~—209,

R T

7. 1688 # @ & gz & aw 1w fa fidr de

aiféd & sHeq wra woy wEl w47
[A] TgT1 Al WAl

(B] TG e He

(€] Twr 3u e

" [D) g Al HifeE

[E)] 39l § & &rf 7

. 93F ¥ s T%les 8

|A] T (B g

(C] ufewrs (D] faaeis

[E] 390 § @ &1 @

a1 3§ Ry 319 shfse Hi< el wi & ferw
frafeafgs 4 @ feg 35 3 dam@mmem & @y
arsiert #1 27

[A] Wi D2 §% (B] wHe o uno &%
[C] W Wiz &% D] w1 e o s
[E] 3IW® § & *ré 98
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[A] Cataract [B] Haemophilia [A) wiferfag (B] Wf*ﬁ'rm
[C] Pellagra [D] Osteoporosis [C] Y&mn [D] FifegmRifay
[E] None of the above [E] 390% § & #r§ 78
Direction : In the following question, one firdw frerfafiaa . < o
term in the number series is wrong. Find out i -31 e ﬂitwg:; & gEen § us 92
the wrong term. PR R *
31. 5, 27, 61, 122, 213, 340, 509 & 2i[w] @. &122761» 122, 213, 340, 509 =
[A] 27 [B] 61 o L [B] 61 e
[C] 122 D] 509 O €] 122 D] 509
[E] None of the above [E] 390% 4 & #r 8 =
L v e poie e dw st % e e i
valuable information aboy e e : . i
advancement of trade, art and culture PN U Bl & a o 74 fore
in Haryana during the reign of Tomar ~ Hieha g1 eyt Tl foeret 22
Kings? (A]  Fehien-u-fag
[A] Tahkik-i-Hind B gfafia
[B] Harshacharita (C] #rewd
[C] Kadamban o .
[D] Yashastilak Champu | FwleE® =@y

[E] None of the above

ich State is the India’s largest

£ 3:,,;':,‘,’::0&, power plant proposed to be

set up?

[A] Maharashtra

[B] Madhya Pradesh

[C] Telangana

[D] Tamil Nadu

[E] None of the above
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34. The number n ig
[A] a fraction

34, A B
[B] a recurring dec

[C] a rational num;mal Al & fir (B] v wrad e
. . = ] 11511 A A
[D] an irrationa] “Un:bc, [(:l = i e (D] v sy de
[E] None of the aboye [E] 390w 0 4 #1348
35. Foreign Portfolic |, ~35. fadia ad 2020-21 1 fagaf qrémifer
inflows of ___ hag 1, iment  (FPI) fam wame v g defiea a2

India in FY 2020-21 “en registered by
[A] ®1 lakh crore

B] ¥2 lakh crore [C] ¥2.74 @ i
[C] ¥2.74 lakh crore [D] 10 &M@ FUg

[D] %10 lakh crore [E] 370& # & #i§
[E] None of the above i - fofafigs s d, gresfl 9 & w9 & fafad

Direction : In the following question a figure UF FHHf & S R I IEE @ qie I SEGA

marked as transparent sheet ig given and & &) 1 v fawedl d 8 us, 38 wefa @ faeda-
followed by five answer figures. One out of

these five options resembles the figure which S i ﬁlﬂﬁf} r@ e
is obtained by folding the transparent sheet et refl R1 I gt § 4 Wl I ol

glong the dotted line. Choose the correct | ~—36. WrgH pL
answer from the answer figures:

[A] 1 @M@ &g
[B] %2 #nma s

36. Transparent Sheet \.“0
.\L' I HHAT
[ - g d ’
| TEEIEE
Answer Figures ! M N HIET
NI [ Nase [A] B] €] D) =
H U1 T (1Y || these — o il
a - o s 37. 1916 H Ugds 4 =radl @ ™ gro fug 4
(A] Bl [C] ol [E 8w awiles o & SEEE 3
foll 0 foran T er?
37. Publication of which of the follo _
weekly magazines Wwas, started A A f=g T
Chaudhary Chhotu Ram it 1916 from B frg e

Rohtak? [C] W' T
[A] Hindu Gazette

[B] Sikh Gazette D) 3w &
(€] Jat Gazette [E] 390 ﬁ\é EaF HB‘T‘_ _
[D] All of the above \38. ﬁ'[:]'ﬁq%ﬁ ﬂ g HHE-41 ;mt_ﬁq’qq ‘_ﬁ an -
[E] None of the above AR faea 78 w7
: n ;

38. Which of the following W2° 2 (A] s (B] mﬁm
NaPOICOn’s defeat?[B] Auslria {C] _stﬁ | ‘ r[lJl i)
oy Pl o . B wwAdaid
[E] None of the abov® 39, s AN e & fou wAM g 4

39, Which city of Haryana is S for e whig 27 ‘

Textiles and Carpets? gonipa! (A] FwETE (B] |
B B~ SR
0

[E] None of the abov® [E] 3% # @ &g A€l
RLES 7 n (e,



40. Sati

was declared illegal and
punishable by the Regulation XVII
during the Governor-Generalship of
[A] Lord William Bentinck

[B] Lord Canning

[C] Lord Ripon

[D] Lord Dalhousie

[E] None of them

41. Which one of the following slogans is
attributed to Subhash Chandra Bose?
[A] Jai Jawan Jai Kisan

[B] Vande Mataram

[C] Jai Hind

[D] Inquilab Zindabad

[E] None of the above

42. Where is the stockpile of Ebola vaccine
established by the International
Coordinating Group (ICG) on vaccine
provision?
[A] India
[C] China
E]

43. Pand Q are two positive integers such

that PQ=64. Which of the following
cannot be the value of P+ Q?

[B] USA

[D] Switzerland
None of the above

[A] 16 B] 20
[C] 35 D] 65
[E] None of the above

44. Where was the Haryana Environment
Protection and Research Committee

[A] Kurukshetra [B] Kaithal

41.

1 O 0 O

.\l ® frg mad-wawfim & o fAEE

XVII g 33y 3R <e-ta aifta fean 141 417
(A] @re fafeam d@fés

B] @ &fm

[c] @7 fum

D] w7 segf

[E] & & @I 4@ s
fafoafiga § @ $9-91 410 gHN 95 @14 Bl
gufda fepar a7

(A] 4 WaE w4 fREH

[B] de Hre

[C] ¥4 fa=e

D] $%emm figEm

[E] 39 A 4 13 F8t

. AHE YEYH W aUE g9l d@gE g

wiftd geren deefld & HeR waEl 27

[A] ¥TE (B] 9% U9 IH{E
(€] ¥R D] iesreis

[E] 3w # & &5 78

P3N Q @ yAws gt 36 wen 3
PQ = 64. fafafaa § § #4-4q P+ Q %l

" Adl 8 dewal 27
(A] 16 B] 20
[C] 35 [D] 65

[E] 390w § & #1§ 8
MWWW@WHMWWq
HE 'H?

(A] FeEA B] ¥ue

[C] & Tl |p] famn

[E] 390% 4 8 %1 8
R g F sr-afem fr i

formed? E%
Ak
(5.7

[C] Charkhi Dadri [D] Hisar
[E] None of the above

S ] (A] |feen gr
45. Ultra punf":cauon of a metal is done by B] @i g
[A] smelting [B] leaching S das
. , [C] i afeen gm
[C] zone melting [D] slagging a6
[E] None of the above (D] 4 S
BRI Ging s o traditional | “ag 11 N0 8 i
- of the t:o owing is a tradi :fma‘ 46. figfafiga § 4 S gRamn ) ofgensi aTe
neck/throat jewellery of Haryanvi 3 el ! i
women? W & 8 /T | 9B AIe Faw @
[A] Hansla [B] Gulbandh [A] gue B] Teide
[C] Mohanmala [D] Allof the above [C] wrgwTe D] 3w Gt
[E] None of the above ~ [B] audes o 8 &1 46
47. National Statistics Day is celebrated on © Wy wiferd) feaw  (National Statistics
which of the following days? Day) = # 8 ey a3 warn s 29
(A] 29 June sl lA] 29 93 B 10 waaf
[C] 12 March bLDl 20 Augu [c) 12w D] 20 307
[E] None of the above www.mseducationtyiorgae & @ 1§ g
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’fct-i_;n : In the followin

&=t v

the correctly spelt worg, Meation " choose
48. [A] Sachrine B

[C] Saccharin [DI‘ S&::hal'ine

[E] None of the abg Ccharine

tion : In the given
Jematives [A], [B], [C], (D)

ve

Uestion, five
(E] are given
N bold in the
V€, which best
€ idiom/phrase.

g¢d my job and I

s
ik and
qr the idiom/phrase given i
gntence. Choose the alterngs
apresses the meaning of th

“$. 1 have recently chan
am going to have te
[A] difficulties at theetgitgft i
[B] difficulties at the enq
[C] difficulties all the time
[D] problem with my teeth
[E] None of the above

Direction : Out of the five alternatives [A],

Bl, [C], [D] and [E] given below, find the one
that best fits into the blank in the following
sentence.

50. The problem is who will ____ this child.
|A] bring in [B] bring out
[C] bring up [D] bring forth

[E] None of the above

Direction : Fill in the blank with suitable
preposition from the alternatives given under
Qﬂ sentence.

81. After all, hard work has come to tell

your health.
[A] on [B] up®®
[C] at (D] t

[E] None of the above
ng question, a

Dh.cuo fi llowi _ p
n : In the Io

“ltence has been given ' ac; 1:3;2::;?
"ice. Out of the five altcmatwgs the same
“lect the one which expres®

5 ce.

tence in passive/active VOIU o o

5, They mp:de him the preslde the
ch.lb madc him the

[A] They were
President of the du?hc club wag
[B] The President o‘m
made them byt:; Presidem of the
[C] He was made
club by them . the club was
D] The President ‘; -
made him by the’
[E| None of the ab°

g
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(A] 3
B] #i§
[C] #H-%H
D] 3 &g

[E] I § 4 %1
~-54. ‘®& @ wlifem 2

[A] arfereh

[B] aferehr

[C] aren

(D] areft

[E] 390w # 8@ = &
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(A] Bl

B] fas

[c] fose

[D] ferge
[E] 36 d & =18 4@

[A] Feitfns
B] w@fifs
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§8. If there is a profit of 20% on the cost

price, the percentage of profit on the
sale price is

1
[A] 15—% B] 12%
3
2
[C] 16 g % D] 16%
[E] None of the above

59. How many seats are allotted to the
members of Rajya Sabha from Haryana

State?

(Al 5 B] 8
[C] 10 D] 12
[E] None of the above

60. The scheme Beti ka Salaam Rashtra
ke Naam’ is related to
[A] essay competition
[B] sports competition
[C] flag hoisting
[D] getting a job
[E] None of the above

61. A does 20% less work than B. If A can

complete a piece of work in 75hr.

then B can do it in

|A] 4 hr [B] 6 hr
[C] 8 hr [D] 10 hr
|[E] None of the above

. A topographical map with scale 1 : 50000
indicates 1 cm to

[A] 50 km
[C] 50 m
(E]

B] 500 m
[D] S5 km
None of the above

A popular chat service is called
[A] Internet Release Chat

(B] Internet Request Chat

[C] Internet Resource Chat
[D] Internet Relay Chat

[E] None of the above

Burns caused by steam are much more
severe than those caused by boiling
water because

[A] steam pierces through the pores of

uickly _
[B] :,:mfj);lrature of steam is higher
[C] steam is gas and engulfs the bod¥
ickl
[D] gtl;amyhas Jatent heat
[E] None of the above
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[C] 8w D] 10 =2
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1 cm & % Wka a1 3
{g] ?,3 km [B] 500 m
| i [D] 5 km
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& Lur folk dance. s

w wh

performed in the W the ..
[A] Phalgun m]th of s’“&ﬂrs, is
[C] Ashwin D) Baisay,
[E] None of the above Kartik
#. ‘Sal’ tree is g
[A] tropical évergreen, .
[B] tropical semi‘EVcrgr::c
[C] dry deciduoyg e N tree

[D] tropical mojs¢ deciq,
[E] None of the above Ous tree

7. Which of the follow
of Haryana?

[A] Black pheasant
[B] White swan

INg is the State pirg

[E] None of the above E]

8. When a light ray passes from glass to
water, the speed of light
[A] increases
[B] decreases
[C] remains same
[D] first increases then decrcases
[E] None of the above

n in fireworks

®. The green colour see > e saliia)

displays is due to the ¢ o
[A] calcium [B] bar! o
] sodium D] stront™

[E] None of the above
not @ part of

". Which of the following 15 rves of India?
the foreign exchange rese
[A] Foreign Currency
B]  Gold
[C] SDRs o
D] Government securit
e
El Noneof the abO™" = ¢ jiquiq

tio
! The rate of evapo™

does not depend upo” :
e(! 0 the
lA] temperature s
B) jts surface arc?
atmosphere
IC] its mass
B humidity

[C] Parrot
- D] Peacock '?ﬁ —

\“70

=71

o O EE g, P e £ g 2,
fou we 4 smife dar 27

(Al %7 [B] @
(C] amfeas (D] ®ifde
(B] 390 4 4 &1 a9

| H U3 R U

[A] 3Iwrmfeadiy geeEr e

(B] Iwrehfeadty 314 -gemen g
(C] % quigrd) e

(D] 3wrnfeasfia au guiwd 9e
[E] W 4 4 w8 79

. Fafafaa § 4 sfamn &1 gsa qeft Fa-ar 27

[A] e dier (B] #%g &4

(C] e (D] =

[E] 39U # & *13 78

W& g & v few g o4 g gt 9
wgadl /e B, A w6 af

|A] @g el 2

(B] @2 sirdi 2

(€] &= Tt @

D) 9Ygat &g et B f we wret 2

[E] 390 # 4 +1 78

BT, S osmAverst 0 foma 2, %
FAMZE d4V & HRO Fal 2

(A]  FHfcaam (B] #fm

[C] wifEm (D] wgifargs

[E] 39 § 8 #1878

. T 8@ - vma % gt qg e o uss

feen i 27

[A] facsh gz

(B] #rH1

[C] Q’Ha-'sﬁa Ho

(D] & wfayfaai

(B] 39U A & & T

za & amftew 6 @ R T Fh

[A] @T9HE W |

[B] s6% @ &7 % IV A wagy
A W

[C] F9& ZoME W

[D] HIGA R

] vl # @ w1 T

c
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72. Where is Asia’s largest paper mill BILT
located in Haryana?

[A] Ambala [B] Yamunanagar
[C] Sonipat [D] Karnal
[E] None of the above

73. People prefer to wear cotton clothes in

summer season. This i1s due to the fact
that cotton clothes are

|[A] good absorbers of water
[B] good conveyors of heat
“C] good radiators of heat
[D] good absorbers of heat
[E] None of the above

When MR is zero, then
[A] TR is minimum
[B] TR is zero

[C] TR is maximum
[D] TR is equal to MR
[E] None of the above

74.

LONGi Green Energy Technology, which
is considered to be the world’s biggest
solar company, belongs to which country?

[A] Japan [B] China

[C] Germany [D] Italy ne?
[E] None of the above Yo Sty ' “Er

76. If 4x=\/§+2. then the“/value ‘E‘f
1 3 e
(-2 s = B+a
16x 7.\

Al 1 Bl -1 e 5 .

Ay
D ( 4

[ 4 D 25 s
[E] None of the above e

Which of the following States has
recently nominated Raghuram Rajan
as part of the five-member Economic

Advisory Council for the State?
[A] Goa [B] Kerala

(C] Tamil Nadu [D] Karnataka
[E] None of the above

77.

|il||||||ll||||.||l|"|ﬂ|l
b oftrn 5 Twd =& dm fe BILT #RAT i

#al fm 27
(A] 3T [B] IR
[C] &Hva [D] HTIE

E] 39w d & #§ T

s il 35 s 3 G S T G
§, wifs gt 793 € 2

(A] Ot ¥ I8 I

(B] aM % <D dEh

[C] 9 & =B TR

D] @M ¥ =3 Hawyw

[E] 370w & 4 #18 T8

9 HWi #™@ (MR) Y2 &, 99
[A] % 3@ (TR) <Faw &1 &
[B] Fe M@ (TR) ¥ & 2
[C] & ™ (TR) 3ftwaq &1 2

" ID] F& ¥1¥ (TR), #Wid 3@ (MR) $ ST

gl 2
[E] 37 & 8 #1E 78
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i |ier FEt 7 T R, e 3w S deite 22
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eE3e) Wi D] s

0
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g) 16x
7‘4@ (Al 1 [B] -1
% [c] 4 D] 25

[E] 390% & § 31§ =8

™ 77, Praferen 84 R vsa 3 e @
wee 3 Temaer uhwe &
[A] T B] ¥

[c] g D] Ffes
E] I # A i A

T ¥ gig
R % v 3

D
78. In which district of Haryana is 78, gfmm F fFa et & smirfa W w2
+ In onia plant installcd?‘ Rear TN 27

[A] Jind i Sisteell (a] f< B] famm

(€] Jhajjar D] FARE W _[c] ¥ D] W

B Nomeofthesbove SS9 | an i 3w /
e o =7 2. SHA9R ~ 1

)~ oIEE: J{8 e e




30 R O

79.

81.

A boat goes 6 km ;
water. It takes thrie
covering the same
the current, gag it
current. Speed of the
[A] 2 km/hr B] 3 k

€] 4 km/hr oy 5 /BT
[E] None of the aboye by

Four years ago the ages of 7
angs;

were in the ratio 11:14 and afi
years, their ages will pe ; -
€ in the [y

13:16. The present age of A is

diss.thCh time in

tak ance against
€S along the
Trent ig

[A] 48 years [B] 26 years

[C] 44 years [D] 28 years

[E] None of the above

Choose the odd one out from the
following :

[A] D12B B] 043B

[C] K62T [D] Y6OE

[E] None of the above

Who among the following has authored
the book, Hind Swaraj?

[A] Bal Gangadhar Tilak

[B] Mahatma Gandhi

[C] Gopal Krishna Gokhale

[D] M. G. Ranade

[E] None of them

Per unit cost of & good is g
[A] total fixed cost

[B] variable cost

[C] average cost

[D] All of the above
[E] None of the above

a,
Which player of Ha-r}’e;n .
Asian Games, has ¢
wrestling? t
[A] Yogeshwar DUt

(B]
[C]

1d medal in

Anil Phogat
Nitin Gulia
None of them which one

ent o}éculc is it?

is a source {;fof‘ﬂ in

: 1
of the following typ© Bl prot® .« acid
A Carbohydrate [ jei

n an \
% hour in still 79.

T84,

c
[C] Fat e =

bove
[E] None of § 3
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86. Who was appointed as the Chairman of \56 ael 3R e & fawrad & g ﬁﬁl‘m e
the ~two Bound_an- Commissions g fagen & dnn il & weyE & &9 8
appointed by the British Government for ORI gl
the partition of Bengal and Punjab? g e T ‘

[A] H. C. Lawrence [A] THo Hlo @R

[B] Sir Cyril Radcliffe B] w fafte tefars

[lgll gobenlﬂ:w; (€] el ¥

amuel Hu :

|E] None of them (D] E‘ﬁr

[E] v & #13 7@
87. Which telescope captured the M87

black hole with its magnetic fields? “—g7. frm Wrpm A wWo 87 =% g @l EXL

[A] Hubble gahg &3 ° e fwar?

[B] Event Horizon Telescope (A] FeEe

:g: Slianl Magellan Telescope -—--TBI e A ofeRan

irty meter Telescope s N

[E] None of the above ] W |

[D] udl diex e
““"‘-—-—_.._
88. IM stands for [E] WiE § Qw0 :rbp‘

[A] Instant Making

[B] Internal Messaging TTB8. 3o Wo F Hoow B

T e e

of the above 17 g
v C 9

[E] None of the above Eﬁ (€] sﬁ-{z .t (D] avi
[E] 39U® H § @i§ 98

89. There are just two ways in which s J
Smaybcexpressedasthesumoftwo “"Qﬂ*ﬁa”ﬁ*?,ﬁ'ﬁsaﬁam,m

different positive (non-zero) integers,
namely 5=4+1=3+2. In how many
ways, 9 can be expressed as the sum of

two different positive (non-zero)
integers?

(] 3 B] 4

[C] 5 D] 6

[E] None of the above

In the foIloWinghquestion, a
: i jven Wit one term
nlfﬂlher = :;:c ilorrcct alternative that
wmnm' .ChOO:I:e same pattern and replace
the Oontml.:‘e mark in the given scries.
90, 0,2,8, 14, ?, 34

[A] 20

[c] 24

[E] None of

/s8¢

Direction :

Q)+?
o
B+
'L‘{j a0 14
g7

s

—_—

B] 23
[D] 26
the above

v (R9) el & am & =y § e
R 1 w1 R, el 5 -4 4 1 -

fse @l @ 9 A1 @ frm T
Tﬂaﬁ%:ﬁn%m&mﬁmm

3 +2,
-3

Hhar 32
(Al 3 B] 4 "—!-6
[C] 5 D] 6 S+,
|

[E] 3@ d & #i 5
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B 3 @m ot @ W YEew F oy e =
ﬂﬁmﬁm ﬁmlé\'ﬂx s OX o4@x!- 92
%, ¢ % A 14, 2, 34 +Qx2<2
?sg v ol - S +8xg - 9
[A] 20 a9 [B] 23 =i
[c] 24 D] 26
oXi4a ,=7 -
01\.@.\ = S r"?'.-\f-’-I-E-Pt _ 9.
Do - 2xg. 5T



